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QUESTION 1

Which Python operator tests two variables to see if they contain the same value? 

A. != 

B. != = 

C. = = 

D. = 

Correct Answer: C 

Reference: https://www.programiz.com/python-programming/operators 

 

QUESTION 2

Which statement is true about YAML? 

A. YAML is a Unicode-based serialization language designed around common data types 

B. YAML is designed around parsing speed over human readability 

C. YAML is widely used on the Internet as a method to mode data between webservers and AJAX clients on Web
browsers 

D. YAML follows the lowest common denominator data types and requires simple processing between different
programming environments 

Correct Answer: A 

Reference: http://yaml.org/spec/spec.pdf 

 

QUESTION 3

Click the Exhibit button. 

Which two actions are performed by the PyEZ Python script shown in the exhibit? (Choose two.) 
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A. It saves the current configuration as a rescue configuration only if one does not exist 

B. It prints the rescue configuration if one already exists 

C. It prints the rescue configuration after it has been replaced 

D. It always saves the current configuration as a rescue 

Correct Answer: AB 

 

QUESTION 4

Which statement is true regarding Python? 

A. To obtain functionality from a package, it must be imported using the Python keyword module 
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B. A Python set is an ordered collection of unique elements 

C. Python 3.x is not fully backwards compatible with Python 2.x 

D. An object within a Python tuple can be modified 

Correct Answer: C 

 

QUESTION 5

Ansible code modules are typically written in which language? 

A. SLAX 

B. Python 

C. YAML 

D. XML 

Correct Answer: B 
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